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No. of Questions : 150
Vﬁ?ﬁm: 15Q
Time : 2 Hours Full Marks : 450
79Y ; 2 gug quTE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for cach unattempted
question.

Gﬁﬁiﬁﬁﬁ?ﬁﬂﬁ:ﬁiﬁwmfﬁrwqﬁlmﬁﬁa(ﬁﬁ)
Ww%a%ww%%w%m%x
ma@ﬁﬁﬁqs#mmwam

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

aﬁwﬁm%waﬁﬁ%ﬁmmﬁ,ﬁw
gE a7 T

01. Which one of the following accepts the knowledge to Abhsyg through
perception ?

(1) Mimamsa (2) Nyiya (3) Samkhya (4 Bauddha

axzﬁﬁr’ﬁaaﬁﬁaﬁqwm&r%mmwmmam%
FAT & 7

(1) wmren (2) =" (3) @i 4 drg
02. As per Aristotle ‘matter and form’ is said to be
(1) Separable (2) Not separable
13) Separable in thought (4) None of these
3
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03.

04.

05.

I B FAFEAR ‘T AR AR’ HR A §

(1) R (2) STgIEA

(8) foami & gugt (4) 37 € d TEH

Logically which one is correct for the Aristotle’s conception of matter
& form :

(1) Matter is prior to form (2) Form is prior to matter

(3) Both are Simultaneous (4) None of these

Hﬁ%&igﬁz'ﬁ«aTFiéﬁiﬁﬂiﬁFIGHGWIﬁﬁ<§HHRWH531%K£Q%H‘FE
el B

(1) == gdaeti & (2) SRR gt 3
(3) I gug ¥ (4) =T q B 7
Samkhya theory of Causality is known as :

(1) Arambhavada (2) Satkaranavada
(3) Vivartavada (4) Yadriksavada

Fien eei= & SRl G ST Sl €
(1) STEHAR (2) THRIER
(3) foacar (4) FEBER

‘Eyerything can not be produced from everything’ this statement

entails which theory of causation :
(1) Satkaryavada (2) Asatkaryavada

(3) Akaranavada (4) Satkaroe~rada



06é.

07.

08.
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THE I W A e W IR §9a T8 g i Hremr 8
e st &1 gfaee @war @

(1) EepriaE (2) SAHEHEARE

(3) ABRIEY (4) TEPRUER

Which one of the following accepts that objects are the copy of ideas ?
(1) Plato (2) Aristotle

(3) Bacon (4) Spinoza

g?ﬁﬁiﬁéﬁﬁ@aﬁﬁw&ﬂwm%ﬁsa@ﬁmaﬁgﬁ%ﬁﬁ
?

(1) <= (2) ey

(3) S (4) ==

“Substance is that which exists in itself ” - this definition is given by :
(1) Aristotle (2) Descartes

(3) Spinoza (4) Plato

;ﬂ?%ag%%ﬂaﬂaﬁﬂammﬁ%"-%qﬁmmﬁm%m
?

(1) s’ey (2) It

(3) wHreT (4) <

Which one is true for the God of Nyaya philosophy ?

(1) Material cause (2) Cofficient cause

(3) Samviyee cause (4) None of them

T T T o B v B Ry gl 2

(1) SUEF RO 20 MR sreor

(3) TR FReT (4) T F 9 53
5
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09.

10.

11.

b2

Nyaya theory of illusion is known as :
(1) Atma khyati (2) Anyatha khyati
(3) Viparita khyati (4) Asat khyati

Y 99 7 wH HEIT ST ST ©

(1) oI Eifg (2) ST T

(3) faudig =i (4) oTHq =
‘Anuvyavasiyavada’ is related to which one of the following ?
(1) Mimamsa (2) Samkhya

(3) Bauddha (4) Nyaya
STyEaaEaE Adfaiea ¥ F g gafaa 7 7

(1) ArEEr (2) @

(3) arz (4) =™

Valid means of cognition as per Samkhya philosophy 1s :
(1) Two (2) Three (3) Four (4) Six

AT asft & orgAR Aw w9 & W @ e w
(1) @ (2) O (3) X (4) B8

12. Who has said ‘every determination is negation’ ?

(1) Descartes (2) Aristotle

(3) Plato (4) Spinoza

ST el i g T R ® 7

(1) & (2) STE]
e (4) EdAST



13.

14,

15.

16.

16P/236/4

What Descartes has proved by his method of doubt :

(1) God (2) Cogito

(3) External world (4) None of these

b F Ut wle Ry & @ s Rear @7

(1) gwr (2) ST

(3) A ST 4) T | FS &
Numbers of Dravyas as pér Vai$esika Philosophy are :

(1) Eight (2) Six (3) Nine (4) Four
I9fs a3 & e mait & w@ear ¥

(1) &fe " (2) ®B 3) = (4) =T

Which one is the first evolute as per the Samkhya Theory of Evolusion ?

(1) Ahamkara (2) Mahat

(3) Tanmitra (4) Buddhi

H@@h%ﬁmﬁ%@aa‘amﬂwwﬁw%?
(1) EHR (2) =eq
(3) T™E (4) s

The idea of God as per Descartes comes under

Which one of ¢
following ? he

(1) Adventitious idea (2) Imaginary e

{3) Innate idea (4) None of thege

P' T'Oo
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17.

18.

T & STIAR $99% @1 yadg srdifarad 7 § e @ e
ST B 7

(1) SIS gad (2) AR TG
(3) TSI U (4) TH 9 @iz Tl

Which one is applicable to Aristotle’s conception of form ?
(1) Form is material cause

(2) Form is actuality

(3) Form is potentiality

(4) lorm 1s neither actuality nor potentiality

-am.%awﬁwaﬁwwﬁ?@wm%?

(1) S IR SR 8

(2) oSTFHTT ARERTERST ¥

(3) TR GFET 8
(4) awqeﬁmﬁﬁﬁﬂ%aﬁ‘{ﬁ'@wmw%

Who holds that “Man is the measure of all things.” ?

(1) Protagoras (2) Georgias

(4) Anagjagoras

(3) Hippias
%ﬁqm%ﬁﬁuﬁmgﬁa—@aﬁmm%”?
) GreTid (2) ST

o e (4) THESTE



19.

20.

21.
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Which one is the highest form of knowledge, as per Plato ?

(1) Conjectural knowledge (2) Knowledge by sense organs
(3) Hypothetical knowledge (4) Rational insight

T | BN O qalius gy o 8, @@ $ orgER ?
(1) iy s (2) si=g gy 5=

(3) & = (4) NfEw sradfe
Which one is not included by charvika under Mahabhutas ?
(1) Earth (2) Space

(3) Fire (4) Water

H UF A6ie G qerqat § wiufi q@t fear 3 7
(1) gt (2) TP

3) <Aty (4) I

Who holds that valid means of knowledge are only perception and
inference ?

(1) Nyaya & Vaisesika (2) Vaisesika & Bauddhg

(3) Samkhya & Vaisesika (4) Bauddha & Samkhya

(1). = v 39 (2) IMF g Ay
(3) W& ud JAfes (4) 9= & gieg

P.T.0,
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22. The total number of Tattvas as per Samkhya are :
(1) Sixteen (2) Twenty four
(3) Twenty five (4) Two

Aied 29 ® TR HA ddl S e ¥
(1) wrE () =EE (@) g™ (4)

23. Which one of the following Vaiscsika category is mot consist of
Samanya ?
(1) Dravya (2) Guna
(3) Karma (4) Visesa

ST AT e A e ob A | gad Tet B ?

(1) &k (2) I
(3) A 4) faow
24. Which one of the following is not accepted by Charvaka ?
(1) Hedonism (2) Materialism
(3) Sense — perceptualism (4) ldealism
SpiifaTEd Q@ B % oats & e T8 e Y
MRV (2) =HfeRaTs
(3) el - JdR (4) STEEE
~5. Which one 18 correct for the Samkhya view of Purusa ?
(1] Active & enjoyer (2) Non-active & enjoyer

i Non-active & Non-enjoyer (4) None of the above
) g

10



26.

27.

28.
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g5y fauge gieg gftesdor & fu o g g8 & 7

(1) dEpa ST wrerr 2) g ok st
(3) MiRa ofix sreiremm (4) S9gw H | Fg @
Which one of the following is correctly matched ?

(1) Green & Gita (2) Hegel & Gita

(3) Benthem & Gita (4) Kant & Gita
FAeNferilT & | 9 th w8 gak 2 ?

(1) @ o faw (2) BT uq Hrar

(3) dud g e (4) HC TG ar

Which set of proposition is contrary ?

(1) E&I (2) E&O (3) E&A (4} A&l
sieastiaadi &1 @ T g 2

(1) g od o (2) $ Td N

B) swE T (4) T TF o

Which one is correct for a proposition ?

(1) Always true (2) Always false

(3) Either true or false (4) Neither trye Nor fajge

gisiiT & R 9 o gd & 7

(1) §F Td (2) |T Iy

(3) & O T A rHey (Mwﬁmqmm
11
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29. Which one is not correct for a deductive argument ?

(1) Formal (2) Vald

(3) Invalid (4) Possible
T gfa & forg 398 @ @9 o F&8 7éf § 7
(1) STRIEF (2) Ae

(3) efdy (@) e

30. ‘Essi Est Percipi’ leads toward which type of philosophy ?

(1) Realism (2) Objective Idealism
(3) Subjective Idealism (4) Critical Realism
Hell agadl B - e g @ a9 @l N AR H B 7
(1) a&ars (2) a&IfTe gaFa
3) AL TIgdIQ (4) GHIETHD TEIAT
31. Who maintains that “substance is that a know but not what ?
(1) Descartes (2) Berkeley
(3) Locke (4) Hume

”azqa%%mgqm%%aﬁmaaw%sﬁaﬁamﬁ”%na
RREE © 7

(1) et (2) bt

) o @ T

i 1 fold causes of Aristotle :
s ‘s pot included n the four
32. Which on€ 1S

Efficient cause
) Material cause (2)

sufficient cause
(3) F ormal caust *)

12



33.

34.

35.
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ST AR Bl # A wh qraii 7@ frar w3
(1) SURHE HrRoT (2) e @reer
(3) SMERINE &hoT (4) gafT Hor

How many propositions are there in Pararthanuman as per Buddhist

Logicians ?

(1) Ten (2) Three (3) Five (4) Four
S A F srar RIGAH & bt sragg 29 & 2
(1) = (2) @ (3) dr (4) =X

Aristotle’s Dictum de omni etnullo’ applies to which figure ?

(1) First (2) Second (3) Third (4) Fourth
Wwﬁw‘%wﬁaﬁmﬁ@gﬁ’%ﬂaﬂmwmﬁm
g7

(1) o= (2 f&dm (3 g @) =g

Which one is not appropriate for charvika ?
(1) Vyapti can not be estabilished

(2) Akash is not Mahabhuta

(3) There is no papa - punya

(4) Sense - pleasyre is not valuable

1.3
Pr.g
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36.

37.

38,

T & e Be-ar o a9l e Y ?
(1) =i @ g g 8t 8

(2) TRIer wera AE ©

(3) 9MI-gea wEt B

(4) 3FEa-ga gegar e e

Who maintains that illusion is ‘Smriti - Pramosa’ ?

(1} Kumanl (2) Kanad

{3) Kapil (4) Prabhakar
H AT & 6 oww o wgfy - g ¥ 7

(1) RS (2) HM

(3) i (4) THERT
‘Jnatatavada' is advocated by whome ?

(1) Kapil (2) Gautam
(3) Kumaril (4) Shankara
‘streraraTe” @r afrares fraa fear 2 7

(1) @i (2)

(3) @q]i?ﬂ (4) T

aintains that only intermediate perception is pure

Who m
perception ?
(1) Kanada (2) Charvaka
(3) Dinnaga (4) Gautam
$T1a@-m%ﬂﬁéaimrar%ﬁﬁsaaﬁrﬁﬂéaﬁﬂasnamTéTgﬁ;swmﬁig?
(1) O (2) ©mED
@) e (4) e

14
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39. Which school of Buddhism represents ‘critical realism” ?
(1) Vaibhasika (2) Sautrantika
(3) Madhyamik (4) Yogachara

%@hmﬁqm‘eﬁwm@mﬁ’wmm
g ? |

(1) Tnfyes (2) @it
(3) HreAfHR (4) FrTER
40. Which school of Buddhism maintains * Bahyanumeyavada’ ?
(I) Vaibhasika (2) Sautrantika
(3) Madhymik (4) Yogachar
T G H BT TG aEAAGEA A R 2
(1) I (2) QrEnfas
(3) ey (4) IFTER
41. Dualism is applicable for which of the following ?
(1) Spinoza (2) Descartes
(3) Berkeley (4) Hume
e?ﬁﬁﬁl@ﬁﬁﬁﬁ?ﬁ%%ﬂéﬁﬂﬁﬁﬂﬂﬁ%&ﬁﬁ%%?
(1) e (2) Tt
(3) TS (4) &g
42. Which Philosophy can be expressed as Pantheism ?
(1) Descartes (2) Spinoza
(3) Leibnitze (4) Plato
15
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feFaeh a9 @l gdsaxdaie @ ©®q § A [haT ST gehdl B 7

(1) = 2) =T
(3) wrEEfTS (4) @it

43. Who holds that ‘Every Determination is Negation’ ?
(1) Plato (2) Aristotle
(3) Spinoza (4) Locke
& R T B o e us Ry 37 7
(1) =i (2) S
(3) @ (4) irh

44. Four-fold causes of Aristotle can be reduced to :
(1) Material & Efficient cause  (2) Efficient & Final cause

(3) Material & Formal cause (4) Formal & Efficient cause
T % AR FRON B ST At ST Eehen ¥

(1) g 3 e @ |

() Tftm vd @& HR |

(3) TURTT UE SR HT T

(4) e @ e wrer 3

45. Which one is not appropriate for the Platonic conception of Idea ?

(1) Eternality (2) Temporality

(3) Univesality (4) Transcendentality
Wf&m%ﬁﬁmma‘%mﬂ?ﬁ@ﬂﬁﬂﬁ%?
(1) e (2) iR

(3) B (4) Tt

16
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46. Who admits ‘ Duty for duty Shake’ ?

47.

48.

(1) Hegel (2) Kant

(3) Mill (4) Benthem
B E©IBR FA B Tl @ frw e 7

(1) & (2) @i

(3) M=t (4) Fm
Which one is not correctly matched ?

(1) Mind is Tabularasa - Descartes
(2) Cogito Ergo sum - Descartes
(3) Natura Naturata - Spinoza
(4) Natura Naturance - Spinoza
B wH gAfT e T |

(1) #13°S g1 CYWITEr - Qord

(2) IR g g -

(3) Y AT - EE
(4) g TG - wfie

Which one is not correctly matched ?
(1)  Unmoved mover — Aristotle
(2) Virtue is Knowledge - Socrates
(3) Windowless Monad - Leibnitze

(4) Sckepticism - Hume

B O g T D 7

(1) TS gav - ORE

(2) |1 5 B - g

@) TEEN Refry —amaf

(4) wegaE - &g
17
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49,

50.

1.

52.

“C(?mposit things are made for others” this statement of Samkhya
Philosophy entails the existence of : '

(1) Purusa (2) Prakriti
(3) Both (4) Neither Both

HOTT QT ¢ |ied g9 @ g8 U ST i ST HIT
=

(1) I=H (2) wepid

(3) = (4) AT R

Which one is not correctly matched :
(1) Samkhya - Traigunyavada (2) Yoga - Creator God
(3) Mimimsi - Niyogavada (4) Vaisesika - Parmanuvada

$HF Uk Al el 7
(1) die - AoFAR () AT - ghewt @

(3) mi - FErER (4) 3MH - TTAEE
Which one is not related to Trikaya of Buddha ?

(1) Dharmakaya (2) Mahakaya

(3) Nirmanakaya (4) Sambhogakaya
A o g & B q i T&t B 7

(1) gHEd (2) wETEHE

(3) FrAfTEA (4) TR

Which Philosophy accepts ‘Not Self Theory’ alongwith theory of karma
and rebirth ?
(1) Ajivaka

(3) Lokayal

(2) Saugata
(4) Mimamsaka

18
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54.

55.
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HF-|I G2 FARHAE & A™-Ar" FH Qd Aot B fEr w
R Il & 7

(1) eTias (2) 4r

(3) eI (4) HHIE®

Which Nyaya Philosopher has given proofs for the existence of God
for the first time ?

(1) Gautam (2) Vatsyayan

(3) Udyotkar (4) Udayana

e = 1sife 7 e 9% & oTRa & Rae s wege Reen
2 7?

(1) ew () awETEs
(3) TEEHT (4) I=T=

Which one is correctly matched ?

(1) VaiSesika — Adrista (2) Mimamsa - Moksa
(3) Bauddha - Anuvrata (4) Jain - Pancha shila
B UF e gafa 2
(1) AAR¥H- SYge (2) =T - ey
3) 95 - AT (4) SF- qeErsfi
Which one is not associated with Madhyamika school of Buddhismy »
(1) Aryadeva (2) Nagarjuna
(3) Bhavaviveka (4) Dharmottar
19
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56.

L g8

58.

B Tk die &9q & Hreamds geeEg 9 geiad J8l 8 7

(1) S (2) TS
(3) wrafades (4) =R
Who is called Nyaya Bhasyakar ?

(1) Vatsyayan (2) Udyotkar
(3) Udayana (4) Gangesh

foF < WSgER e Sar § 7
(1) dreemad (2) IENAHRT

(3) J=TA (4) TR

As‘ per Kathavatthu’, how many sects of Buddhism were divided on
religious ground ?

(1) Six (2) Twelve (3) Eighteen (4) Four
maﬁwgz%<ﬂagwxﬁtasniuﬁﬁa;aﬂan:wrﬁra%fﬁmﬁﬁiidﬁﬂvﬁn

o 7
(1) =g (2) dE (3) ASRE (4) =X

‘Devadatta does not eat in night, yet he is healthy’ is an example of
which means of valid knowlcdge ?

(1) Upamana (2) Arthapatti

(3) Anuplabdhl (4)
(3eaeq T A TE e, fpe oft ag Arer 87 Fe fd JH

o7 IETEXT 8§ 7
(1) STHH (2) AUt

@) angafw (4) STFAM

20
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59. Accepted kinds of Arthapatti are :

60.

61.

62.

(1) Three (2) Five (3) Six (4) Seven
FART F e g T

(1) = (2) dfg (3) ®8® (4) g
Who holds Uiatata Linganumeya Vada’ ?

(1) Prabhakar (2) Kumaril

(3) Shankar Mishra (4) Gaga Bhatta

ST TR arw B e s & 2

(1) g9y (2) e

(3) <iHY fiyy (4) M HTe

Theory of * Triputi-Pratyaksa’ is Propounded by whom ?

(1) Murari Mishra (2)  Kumaril Bhatta
(3) Prabhakar (4) "Udayana
‘ﬁgﬁ—wa’aﬁr%m%qﬁrr%mﬁaﬁm%?
(1) Il s @) R e
(3) 9HEFT (4) Tggq

Which one is not correctly matcheq 2

(1) Vaisesika - \l/erbal testimony
(2) Nyaya - Anuvyavassy,

(3) Mimamsa ~ Svarga- Nargk,
(4) Buddhism - Apoha

21
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1) 9w - g g
@) == - g
@) e et -
(4) dArx a9H - omE

63. Which one is not correctly matched ?
(1) Dinnagc - Apoha
(2) Kulmaril - Anvitabhidhan
(3} Nyaya - Praman - Samplava
(4) Bauddha - Praména - Vyavastha
i uEH gaARE TE 8 7
(1) FrgamT - oTiE (2) FERE - A
(3) = - qqO-awd (4) R - FETT - SHERET

64. Who holds Abhihitanvayavada ?
(1) Kumaril
(3) Nagesh
SR i ep B 8 ¢

(1) HHRW (2) HHTERT

(2) Prabhakar
(4) Panini

@ T @) e

65. Which number is correct for the Kant’s Categories of understanding
(1) Thre€ (2) Twelve
(4) Eight

(3) Sixteen

22
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67.

68.
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e & gfs @ Bfedt B R B-t dear g8 S

(1) d= (2) 9RE

(3) wiE (4) oS
Who awoke Kant from dogmatic slumber ?

(1) Plato (2) Hegel
3} Hume (4) Berkeley
maﬁﬁ?aﬁwuﬁsamaﬁﬁmﬁm?
(1) == (2) ¥

(3) &FH (4) et

Berkeley has refuted -

(1) Only Abstract Idea

(2) Only General Idea

(3) Abstract & Genera] Idea Both
(4) None of these

9N GUe fapar D

(1) %aw sy sreery

(2) *a9 "= gy

(3) ﬂﬁémqﬁmmaﬁ
4) 5 q +E T3

Which one is correctly matched ?

(1) Kant - Nagarzuna (2] Berkeley - Va

Subangp,
(3) Hume - Gautam 4) Spinozg Kapi[ :

23
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B UF qE gAfT & 7

\\\W—Wﬁjf-{ (Q)Gﬁ—a'ga:g
3 &gw - e @) aheeT -

69. As per Jain Philosophy, ' Time' is
(1) Astikaya
(2) Anstikaya
(3) Mithya
(4) None of these

S a9l F oTgE ‘R ¥
(1) SIRdEE (2) STARCERE
(3) e (@) =R q A A

70. Which school of Buddhism does not accept the real existence of past
and future ?

(1) Sarvastivada (2) Sautrantik

(3) Mahasanghik (4) All the three

S qofer @1 - W g AR A B qrcae IRad &
e &

(1) @i (2) QNI

@3) FETEE (@) @R A

_ estabilished harmony is propauned by :

ory of Pr¢
T e (2) Aristotle

(1) perkeley
) 4) Spinoza
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72.

73.

74.

16P/236/4

YT |ESE P fyarie Brar e 2

(1) Il ZT (2) &Y a0

(3) wrEEfIST = (4) TSI &

As per Spinoza man can know only :

(1) Two attributes of substance

(2) Three attributes of substance

(3)  Four attributes of substance

(4) Infinite attributes of substance

TS & SR 0g S T ¥ Aer -

(1) &= % q o7 @ =z & = o
®) ==& & = o (4) = % = Ty
‘God as first efficient cayge’ is admitted by :

(1) St. Augustine (2) St. Aquinas

(3) Spinoza (4) St. Anselms
‘Hmﬁﬁﬁm%mﬁs‘m’aﬁwmg;
(F 5 Sremr (2) & CeiT
(3) wrom (4) T TRrerg

‘Summa Theologica’ was written by :

1) St. Augustine
( (2} St. Thomgg AqQuings

(3) St. Anselms (4) St Francig

25
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g R & o@s d
(1) &9 TR (2) Ha g T
3) d o @) g iR

75. Which one of the following books is written by Spinoza ?

(1) Meditations (2) Ethics

(3) Republic (4) LeMonade
HelfdEd § Q He-dl yeren e Far R R
(1) A (2) T

(3) RufeTrs (4j SLIRIE

76. Which one is not related to the Philosophy of Descartes ?

(1) Dualism (2) Interactionism

(\5) E;X[Cr.l(}!f God [4} paralle]lsm

A o e B &R 3y grafea w&t 8 ?

(1) &dde PCRUERIEI
(3) wﬁaréﬁ‘a‘sat (4) FATAFIER

77. Who refut€s innate ideas ?

(1) Plato (2) Aristotle
3 §pinoza (4) Locke
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78.

79,

80.

16P/236/%

SIS 9o T @OS I Hiar & ?

(1) = (2) ST
(3) e (4) <lep
The term ‘Subjective Spirit’ is related to :

(1) Bradeley (2) Hegel
(3) Green (4) Hobes
FlFed Rafte g gl gt 27
(1) == (2) B
(3) I+ (4) efeq
Which one is correctly matched ?

(1) Kant - Mind makes the nature

(2) Hume - Copernicus revolusion

(3) Lock ~ IEssi est percipi

(4) Descartes - Natura Naturata

T UH wE Ak & 7

(1) == - g g A ffor e o
(2) =gm - IR Hifg

(3) wfm - G e

(4) S - AR e

Who has propounded "Antinonies of Reasop’ for the first time -

[3) Plato (4) Kant
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‘gfe & faufqust @ ofoures gedaar e frar 8 7

(1] %ﬁﬂ (2) NIED
(3) i (4) @i

81. Nyaya Philosophy does not admit :
(1) Apauruseyata (2) Anuvyavasaya
(3) Anyathakhyati [4) Apavarga
=g g3 Wi e FRar @
(1) SISl (2) HJATHE
(3) STIUTAI (4) STIaRt

82. Which one is not included in Prasthan Trayee ?
(1) Gita (2) Upanisad
(3) Brahmasutra (4) Purana
7w e § atwfew € g 7
(1) i (2) SurEg
(3) s&FH (4) FU

83. Who accepts Bhakti as fifth Purusartha ?
(1) Shankara (2) Vallabha
(3) Ram Krishna (4) Mandan Mishra
e @ e geured I wieprear ® 7

: 2) dTH

9 141 Aus A
(3) TR

g4. Who accepts ‘gyagat Bheda’ in Brahman ?

(1) Shankara (2) Ramanuja

ish
(3) Madhusudan (4) Mandan Mishra
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85.

86.

87.

16P/236/4

ggH @ A B wierar &7

(1) <MY (2) XMHTFS

(3) AYYeE (4) #HUS FrEm

Who has provided seven-fold criticism against Maya theory ?

(1) Ramanuja (2) Madhva

(3) Bhaskar (4) Shriharsha

HE-RAET & fow R gty sfdl @ e R ¥ 7
(1) TS (2) #H=

(3) WREHT (4) =ied

Which one is correctly matched ?

(1) Vaisheshika —  Verbal testimony
(2) Bauddha - Verbal testimony
(3) Charvaka - Verbal testimony
(4) Mimamsai - Verbal testimony
B o T gk ¥ 7

(1) doiftres - = gHTy

(2) o= - W=

(3) =i - 9= gHmr

(4) HrwrEr - 9= ooy

Which one is not a kind of su

Philosophy ? pranatural perception ag per Nyaya

(1) - Samanyalaksan (2)  Jfianalakgen

(3) Manas (4)  Yogaj

29
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88.

89.

Wﬁaﬁ%ﬂgﬂﬁﬁ?@aﬁfﬁmﬁw&rwwﬁ%?

(1) Fre=eretor (2) SITFICT&ToT
(8) HIH (4) AT
Which one is not acceptable to Advaita vedanta ?
(1) Vivartavada (2) Ishvara
(3) Pratibhasika satta (4) Law of excluded Middle
BT T ASd ST H @b T T ?
(1) foedee (2) B9a¥
(3) wfasifdes @ (4) #ed gRer fFam
What type of compulsion in moral imperative is accepted by Kant ?
(1) Internal (2) External
(3) Divine (4) Circumstantial
i g e @ areEaT e ot F ©ER B E 7
(1) ST (2) ded
(3) (4) uRRefe=
90. ‘Good will is good by itself ' who has said it ?
(1) Sidgwik (2) Mill
() Hegel (4) Kant
*g;wﬁmaﬁaﬂqﬁg;ﬂ%azﬁmﬁaﬂ%?
(1) o (2) Pt
3) ¥ @) e
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92.

93.

9q.

16P/236/4

Which one is not the postulate of morality as per Kant ?

(1) Existence of God (2) Immortality of Soul
(3) Freedom of Will (4) Feeling of Benevolence
FIT & SFAR BT 0 ST W g L 2
(1) 29 @1 s (2) ST W STHIET
(3) =BT it wWrEa (4) 9U9BT FH HGET
What is the base of mora] values as per Intutionism ?

(1) God (2) Benevolence

(3) Consience (4) Reason
HETAIE & STgar A gt @ oy @y ¥ 7

(1) g% (2) TYHER

(@) ST 4 I

Who has said that Philosophy is not thedry but therapy ?
(1) Ayer (2) Carnap

(3) Russel (4)  Wittgenstein
Ww%ﬁsa&h%@ﬁﬂﬁ,wg?

(1) T (2) =y

(3) T (4) fafetfery

Picture theory of language is propopunded by :

(1) Wittgenstein (2) Russe)

(3) Ayer (4) Price

T R Ry gfyefee e T %

(1) RfETerT gry 2 @ zZry

(3) @ amy (4) 5% gy
31
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95. Who has proved that existence of anything is not its perception :
(1) Russel (2) Moore
(3) Hume (4) Husserl

B ge fom Pear © Bp PR aeg 99 G SEE gedal T g
(1) & 2) W
) =™ (4) e

96. Scientific knowledge, according to Kant, is :
(1) Analytic (2) Apriori
(3) Synthetic (4) Synthetic apriori

FHie & FFA I AT T

(1) ferecromcTes (2) SRR
(3) RIS (4) HATOTHD HRTHAA

97. According to Kant time and spacc are .
(1) Quality of matter (2) Matter themselves
(3) A priori forms of intution (4) Relation between things

zgfga‘aaqggr{&at—m%:
1) 3G IT 2) ¥ H Y
(B]W%mﬂﬁ‘cﬁw (4) aegell & 9" '

98. According to Hume impressions are obtained through :

(1) Sensation (2) Reflection
(4) All the three

(3) Imaginatio”
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99.

16P/236/4

T B STGHAR WSRO FH B Aemm §
(1) Haeg=r (2) wfaft fa==
(3) HegeT (4) | d=r

Who has accepted that there is no difference between Creator God
and Created World ?

(1) Hegel (2) Spinoza

(3) Plato (4) Kant

q@éamqangﬁﬁaﬁ?ﬂﬁﬁamﬂﬁm%?

(1) & (2) wfET

(3) wrer (4) i<
100. ‘Pineal gland’ is related to whome ?

(1) Aristotle (2) Spinoza

(3) Descartes (4) Locke

G T T e e B 7

(1) ev&y (2) T

(3) b (4) ol
101. Essential features of Dharma, as per Manu, are -

(1) Eleven (2) Twelve

(3) Ten (4) Eight

T3 P TIER o & g ey ¥

(1) e () ==

(3) <d @l e
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102. Dharma is that which leads to Abhyudaya & Nihshreyash’, this
definition is given by ?
(1) Gautama (2) Kanada
(3] Manu (4) Chanakya

%ﬂé%%ﬁa@ﬁﬁ:%&rwm%’,%@wmﬁ
?

(1) () FomE A
(3) w3 A (4) = A

103.Which one is not related to Gita ?

(1) Purshotama (2) Sthitiprajna
(3) Akshara (4) Mahakaruna
B wm T q e e

(1) gouaH (2) Refergst

(3) I (4) WBIRG"N

104.Which one 18 ‘Anirvachaniya’ as per Advaita vedant ?

(1) Brahma (2] World

(3) Individual Self 4) God

aqﬁﬁazm%awq‘%ﬂqzﬁ i B 7
(2) ST

1) @

([3) Sicisall (4) 29T

r, Moksha can be obtaind by :

Ke rma (2] Bhakti
! ;- na (4) Prapatti
(3] na

105. As per Shart?
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AFT & STIAR WNeT ur R S weper ®

(1) =4 § (2) wfRT |

(3) s A (4) safw 4
106.For which Hegel has said “God is like lion’s den” ?

(1) Spinoza (2) Descartes

(3) Aquinas (4) Berkeley

fFed e 3%er & ey - ‘29T M A mim B T I 2

(1) e (2) I

(3) weritaTer (4) ==
107.‘Bodhisatva’ is related to ;

(1) Hinayina (2)  Mahayana

(3) Both (4) Sarvastivada

‘St grafag L

(1) &ams (2) Werm s

(3) .3=f (4) waifgere
108. ‘Religion of Man’ is written by :

(I) Tagore (2) Vivekanand

(3) Radhakrishnan (4) Gandhj

Ao oifs A & g B

(1) (2) T

(3) rerEpSy (4) ref}

109. Which one is not correctly matched ?
(1) Radhakrishnan _ Life Divine

(2) Aurbindo = Ideal of Humap Unity

(3) Dayanand ~ Satyarth Prakash
(4) Tagere - Gitanjali
35
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- o i T8 B 7

(1) T UES A CCIER
(2) erfa= - orsfead off ggd girel
(3) =M= - Tarel g
(4) &M - it
110. ‘Hind Swaraj’ was written by :
(1) M. K. Gandhi (2) M. N. Roy
(3) M. M. Malviya (4) M. Pannikar
Torg e fordt T3 o -
(1) o, F. AR B (2) @d. T 9 &

(3) UH. UH. HEE &R (4) TH. qiUUTR B0

111. ‘Essential Unity of All Religions’ was written Dy

(1) Vivekananda (2) Radha Krishnan
(3) Bhagwandas (4) Devaraj
e

(1) federT= (2) RTETRTTA

(3) ST (4) e

of ‘Universal Religion’ is propounded by :

i 12."1\11\;‘ ldCd )
(2) Dayanand Sarswatl

awaml vivekanand

(1) |
(2) Bhagwandas (4) Radhakrishnan
L L L yferaif fFen T

) R 8 () O T &
@ GG (4) TEHTT] &
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113.The term ‘Humanism’ is not applicable to which of the following ?

(1) M. N. Roy (2) R. N. Tagore
(3) N. K.Devaraj (4) K. C. Bhattacharya
a@%f@ﬁﬁ%ﬁ?ﬁ%%q‘ww’qangaaﬁﬁaﬁﬁﬁﬁ%?
(1) . . W (2) R. . JR
(3) TwH. F. TS (4) *. @. e
114. Who admits cqual respect to all religions ?
(1) Mahatma Gandhi (2) Swami Vevekanand
(3) Ravindranath Tagore (4)  Shri Aurbindo
FAGH GG B @ ET B e ?
(1) #&remT Tredy (2) P A=
(3) =ty iz (4) S orefa=
115. ‘Inter - religious dialogue’ is more advocated by whome »
(1) Vivekanand | (2) Rammohan Roy
(3) Mahatma Gandhi (4) Radhakrishnan
STUCHIE T &1 arfv qoefr R Rear & 2
(1) Fdem= (2) IHEs
(3) merm ey (4) THEE
116. The word is like g dream. This view js advocated by -
(1) Yogachar (2) Vaibhasiks
(3) Advaita Vedant (4) None of thege
37
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S @Eaq €1 39 fauR @ qeede e e © o

(1) FFE & (2) Jafees @r
(3) HZd deTd W (4) T q B3 A€

117. ‘Principlc of Cosmic Error’ is related to :
(1) Ramkrishna (2) Vivekanand
(3) Tagore (4) Radhakrishnan
Tava o @ e aEead
(1) THET (2) fereeE=
(3) @ (4) ETHETT

118. Who admits that Good is indefinable ?

(1) Moore (2) Mill
(3) Bentham (4) Spencer
A T & 6 g S § 7
(1) (2) fast
(3) e @) W

119.‘Man is condemned to be free’- who made this statement ?
(1) Jams (2) Ayer
o) Sartre (4) Husserl
;Wﬂﬁéﬁ%maﬁﬂm%’—%mwm%?
0 o ) W

b4

(3) Rl E w_é
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120.How many levels of theoratic consciousness as per K.C.
Bhattacharya ?

(1) Three (2) Four (3) Five (4) Six
F. W TgerEd B orgEr Swifaw Sa B Read @ ¥ 2
(1) &= (2) =R (3) dfer (4) B8

121. Which one is not related to the origin of religion ?

(1) Animism (2) Spritism
(3) Manism (4) Magicism
FIT-EN O o & 35T @ gl g §
(1) Siqqrg (2) UvER
(3) AHER (4)  StrgErg

122.Eye for eye and tooth for tooth’ is accepted by whjch theory of
punishment ?

(1) Preventive (2) Retributive

(3) Reformative (4) Administrative

‘aﬁ@; W ST 3iR afq 3 forw o B BT-AT 575 Ry 4|

(1) Madard (2)  ARTRRaE
(3) FeraT (4) gemEfys
123.Which one is not related to Buddhism ?
(1) Three Teachings (2) Three Kayg
(3) Three Pitaka (4) Three Ring
39
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HF - A TH dE g § gt qEt ¥ 7

(1) = faremd (2) 9 HF
(3) oM Meeh (4) o SROT
124.Intrinsic validity of knowledge is accepted by :
(1) Kumaril (2) Kanada
(3) Dharmkirti (4) Udayan

ST T ST IR fR T E

(1) FAMNRA ERT (2) HOME B
(3) aHid & (4) IEg9 g

125. ‘Existence Precedes Essence’ — this statement is related to :
(1) Logical possitivism (2) Existentialism

(3) Phenomenology (4) Sckepticism

‘sifeder @TC @1 GAAE B - g% e wEtad

(1) dlidh HadiE 8 (2) SIRqEEE

(3) oAt J (4) dygaE
126. ‘Naturalistic fallacy’ is related to

(1} Moorce (2) Bentham

(3) Spencer (4) Mill

i Qu wElha §

1) WA 2 A

3y T d (4) e @
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127."Mind is ghost in machine’ - is related to :

(1) Ryle (2) Moore

(3) Carnap (4) Quine

A AN F T ¥- e R

(1) B (2) T

(3) @MY (4) =R
128.The theory of §ustice as fairness’ 1s namely related to ?

(I) Rowls (2) Russel

(3) Ryle (4) Ross

T AR T Rt am: P g 2 7

(1) e q (2) W«

(3) =T q (4) I 4
129.Who has made Copernicus Revolution in Philosophy ?

(1) Locke (2) Bacon

(3) Hume (4) Kant

w2 A B it fray oy 27

(1) < (2) BT

@) T @) e
130. Highest good for highest numbers’ is related to -

(1) Naturalism (2) Utilitarianig,

(3) Hedonism (4) Intutionism

41
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131. As per Plato, which one is more significant virtues ?

(1) Courage (2) Temperance
(3) Justice (4) Wisdom
G & TgER, A T ST "EEYEl AT ¥ 7
(1) qred (2) A
(3) =™ (4) fasw
132.Which one is not a kind of Hetu as per Buddhist Logicians 7
(1) Svabhava (2) Karya
(3)  Anuplabdhi (4) Upalabdhi
Frar o A YA & OTER 2 H e T 87
(1) ¥ (2)

(3) eTgudIe (4) Ut

133.‘Arhat’ strives for the liberation of :

(1) Own self (2) All monks

(3) All creatures (4) All human beings

ordw Ofe & o e &Il ©

(1) oy ferd 2) R & Q

(3) gt & 91T (4) g A= @ R
134.Which number of Parmitas is famous in Mahayana Buddhism ?

(1) Ten (2) Six (3) Five (4) Four

mﬁﬁaﬁaﬁﬁﬁ—@ﬁwwéﬁ%ﬁﬂﬁﬁnﬁ?ﬁ%?

(1) = (2) ®Be (3) 9= (@) 9
135, Which system of Philosophy admits the ‘Prapyakaritva’ of sense -

organs ,ddhism 2) Nyiya

gy B i
(4) Neither both

(3) Both
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B - A1 T TERE e B uaeRe @ @ B T 7
(1) = 9= (2) = T
(3) = - (4) =T AEr

136. Which one is not correct for Nyaya Philosophy ?
(1) Sixteen categories
(2) Four means of Valid knowledge
(3) Paratah Pramanya
(4) Swasamvedan

ﬁw-wwm@h%%qaﬁﬁ%?

(1) drserqeref (2) =TT gHIOT

(3) U: urHTYY (4) @HIeT
137.Which one is not correct for Berkeley’s idealism ?

(1) EssiEst Percipi (2) AbstractIdea

(3) God (4) Empricism

aﬁ%w%h%—mwaﬁﬁ%:

(1) T gogam & (2) orrd gy

() Fwax (4) STI%EEE
138.Which one is not correct for Gandhian Philosophy ?

(1) Satyagrah (2) Sarvaodaya

(3) God is truth (4) Ahimsa

M & & R B9 o wdr w2 o

(1) e (2) Hareg

(3) %W T B (4) s
139.'Man is born free however, he is Cvery were in chains’ this statement

is given by :

(1) Hobes (2) Rosseau

(3) Maclver (4) Locke
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A= @A S Aar @, T o IRl X% 9xas e @
o 2 g8 HAAF

(1) efedt Q) =@
(3) FeFrEaY @) o

140.Which one is not related to Marxism ?

(1) Dialectical materialism (2) Class struggle

(3) Surplus value (4) Doctrine of Trusteeship

PA-T1 U meRaE B g g T8 € 7

(1) Eardsd Al (2) @t Fud

(3) SARET J (4) =aa s
141. Which one is not correctly matched ?

(I) John Dewy - pragmatic Humanism

(2) M. N. Roy - Radical Humanism

(3) J. L. Nehru — Scientific Humanism

(4) N. K. Devaraj — Theo - Centric Humanism

FrA-a1 U AR |el el § ¢

(1) Si9 Sdt - oreiferaTeeh HIHEdTE

o) ud. ud. - eEA AR

(3) SATEY |9 Aee - [OeEl AFEare
@) A & e - el Wik ATEs

Man — made’ is the basic idea of which Philosophy ?
(2) Feminism
Humanism

142.Truth is
(1) Pragmatism

(3) Marxism (4)
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A g MHT ® - A8 R asi @ eneread gy & 7

(1) Sredfeharare (2) T
(3) HEdaE (4) HEER
143.The book ‘ Subjection of Women’ is written by whom ?
(1) Mill (2) Sartre
(3) Simone De Beauvoir (4) Dorothy Parkar
‘Hﬁmmeﬂtﬁa‘rﬁ?’mwmm%@ﬂs‘%?
(1) T (2) a
(3) dmMH € gan (4) Sreft greRt
144, Which one is not related to the ‘Social contract theory’ ?
(1) Hobes {2) Locke
(3) Rosseau (4) Maclver
ﬁ?—ww‘ﬂmﬁmmam%m’%mﬁqaﬁ%?
(1) fem (2) <=
(3) =& ' (4) ¥Eax
145.Who has accepted that Jiidna is an adventitinysg quality of Soul :
(1) Kumaril (2) Charvaka
(3) Nyaya (4)  Ramanujg
%ﬂﬁ%&ﬁwﬁm%ﬁsmﬁeﬂwmmﬁzﬁwg;
(1) FHAmRe (2) waip
(3) == (4) THTTS
146.Who had int i
) ad introduced the ontological argument for the eXistence of
(1) Anselm (2) Augustine
(3) Aquinas (4) Descarteg
45
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fpe d9aR & ARG & TCEd JHI9T @ deen giEd Rar ar ?

), e (2) STTETE
(3) TS 4

14 . hi ]
7.In which standard form of categorical proposition both the subject
and predicate ferms are distributed ?

(1) A 2) E (3) I (4) O
ggggwamu%ﬁ@ma#maﬁ@@wqd%héﬁwaam
(1 2) % (3) o (4) o
148, How many standard form of categorical propositions are there ?
(1) Five (2) Six
(3) Three (4) Four
Fder aepare @ o A= ST BN g7
(1) M (2) ©E
(3) dId (4) X
149.What is the form of categorical syllogism ?
(1) Mood (2) Figure
(3) Both (4) None of these
Preiey BT b STERR T X 7
(1) St (2) ST
@) aet (4) 3T A/ B T

lacy of infinite regress is aplicable to which of the following ?
(1) Paratah Pramanya (2) Paratah Prakasha

(3) Anuvyavasaya (4) All the three
ﬁﬁmﬁq@ﬂﬂqﬁmmaﬁlaﬁ%?

150.The fal

SRRIER .
@) oTgHEEE (4) ST @l A=l
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ROUGH WORK
O &
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10.

11,

13.
14.

sreaféat & fer fden

(39 Yf@&T & FIH JaT0T U3 4T 797 I90-UF & g g=t 4%
Faer Hicil-arell aer-@rge 47 @ & @)

T e e & 10 e & orex @ 2 o foh e # Wt 7S AiNE § S #
T T T 81 et Qg 9T ST 39 A el - 6 SRt wep
T @ g e & o
T YT B forgTer wha xdw-uA & afifie, e @ we S o ger w9
§ 7 @l
W-wm#ﬁwwmﬁ#ah??'aﬁwz?ﬁgmar?}mm-wag?‘ﬁmm;
Faet sﬁr-qara?rg?gﬁﬁav——rmaﬁm!
Wﬁwﬁwm-ﬁmmmw—wmﬁa@ﬁ%mmﬁ@
-7 3w g uT 47 @ S sgEE i e o ford e #9 &3 g 7
a1 % &1 et v @ awl weA- g & wAiE au Qe w1 T 3 @
97 7@
o UHo 3o T UT IIHAEH mmmaﬁszﬂﬁﬁfﬁ)am
Y??EE:WWGW aftr ate TTe Ao UA e & gfatEa & IuferET # FgAT
T8 21
sl wfafa ¥ 53¢ o ufads g il g YIS € AEd AT TE & A
TIETT FT AT /A AR
m-gfﬁmﬁmmﬁmaﬁﬁamﬁﬁn&frmmééﬁﬁm%ﬁq
ama?m—waﬁmﬁﬁﬁ%%m#ﬁ'&nﬁqwﬁm-w%mwwﬁ?ﬁ
fronf & argam 47 @ mer &1 81 i
mm%m%mmwéﬁﬂﬁwﬁ@ﬁﬁwqﬁﬁww
mmw@ﬁmﬂﬂﬁm%mwwmi
Wéﬁwmmmaﬁﬁmmqﬁmm&aﬁm@mm'mm
m'wmgamﬁ%mﬁ#wwqﬁﬁWWér@#wﬁww
s fad s .
mm‘ammg@m%w%mwwmm@w%mw
1 yarm & '
Uﬁaﬂ%mﬂéﬁﬁﬁt{qmm-ﬁmﬂaqﬁmﬁ'il
mmgﬁﬁ%ﬁqﬂmwﬁmaﬁﬁmﬁﬁ%

; qmﬁmmwmmé,aﬁﬁﬁwﬁm@mﬁuﬁﬁ




